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Sieving in the 16 th century
(Agricola 1556)

A: Sieve

B: Handles
C: Tub
D: Sieve bottom of iron wires
E: Hoops
F: Woman shaking the sieve

G: Boy supplying it with material 
which requires washing
K: Man with shovel

A



Ckecking of sieves
(EN 932-5:2012)

Perforated plate sieves ≥ 4 mm 

• Measurements according to ISO 3310-2

• Sieve gauge check

• Performance check (master sieve or certified
reference material)

Woven metal wire cloth sieves < 4 mm

• Measurements according to ISO 3310-2

• Performance check (master sieve or certified
reference material)
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Checking of a 14 mm test sieve
(EN 932-5:2012)

• ISO 3310-2 Measurements (Tolerance ± 0,26 mm)

• Performance check (Annex A - master sieve or 
certified reference material) 

• Checking by a gauge method (Annex B: Tolerance

± 0,26 mm)



Checking of a 14 mm sieve
(EN 932-5:2012)
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Performance check procedure
(EN 932-5:2012)



Sieve gauge
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Grading of a 14 mm performance check sample
(EN 932-5:2012)



Aperture requirements

Perforated plate sieves ≥ 4 mm - ISO 3310-2

• Tolerance (±) on any aperture size: 1 - 3 %

Wire cloth sieves < 4 mm - ISO 3310-1

• Tolerance (+) on any aperture size: 12 % for sieve 2 
mm and 44 % for sieve 0,063 mm 

• Tolerance (±) on average aperture size: 3 - 6 %

• Maximum standard deviation: 5 % for sieve 2 mm and 
16 % for sieve 0,063 mm



Requiremnts for master sieves

• Calibrated according to ISO 3310-1 
with a certificate

• Standard deviation of the apertures
should be about 1/3 of the maximum 
standard deviation σo



Grading of check sample 
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Effect of an aperture size error on the error of 
percentage passing

∆P = k∆d/do

where

∆P = error of the percentage passing

k = slope factor

∆d = error of the aperture size

do = nominal aperture size



Effect of ∆P = 5 % on the deviation of 
aperture size (= ∆d)
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Tabell 1 Kontrollprovsdata vid kontroll av en sikt
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Tabell 2 Passerande mängd i % vid olika siktar
i en siktserie med stegfaktor 2
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Tabell 3 Kontrollprovets vikt i gram (300 mm-siktar)
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Acceptanskriteriet för aktuell arbetssikt beräknas med
hjälp av formeln

∆Ptill = k(∆dtill/do)

där ∆Ptill = största tillåten differens mellan passerande mängd

för mastersikten och passerande mängd för arbetssikten;
k      = lutningsfaktor enligt Tabell 4, härledd enligt bilagan;

∆dtill = största tillåten avvikelse i maskvidden = 1,5Y,
där Y är toleransen för trådsiktens medelmaskvidd
enligt Tabell 2 i ISO 3310-1;

do = siktens nominella maskvidd.



Tabell 4    k-värden för kontrollprovets siktar
i en siktserie med stegfaktor 2
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Tabell 5 Största tillåten relativ avvikelse
för olika arbetssiktar (= ∆dtill/do)
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Tabell 6 Sammanställning av data för kontroll av
fem siktar med ett kontrollprov
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